1. V024=0p+6 < 1, b 9 F2 F5todzt,

aa:bz



2. 0<xQu vVi2+

® 3
@ 2x



TFF4] 247 —xy—Ay? 0] x—2y 2 Q152 71 W), ok & o] o
A4E? (Hh A=)

@ 2x+3y ® 2x+ by



o gre?

O 4V3+2
@ 4v3-1

@ 4vV3+1
® 4+3-2

S}

=

o, a+ 4b






6.

-5 2 V5 Afole] = ol thgt

@ 5§48 e A%t gt
@ 548 we 547t oot
® 548 Be §e47t dnk

_q\__
2571
@ Aas7t2 A gk,

® A=7H6 7 A







® 2 @ 3 ® 4

1

Do



S5 RN DL AG o, B0 MG 2 AL p L T
. a, b5 2HFEA T AL?

@ V24 + V6 @@

V9
©® -V21+ V3 ® (-V6) = (-V2)
@ 8+ V32

® a8 5 p: VI8

V9
S VI8 ,
®a-ﬁ,b.—\/l-\/§

@ a: V24+V6,b: —V21+ V3
@ a:-V21+V3,b: -V21+ V3
® a: V24 V6,b: -6+ -2



"~ go
uich
fijo
8o
Mo

LR
H
Hr
=
L
rlo
rE o
L
N

o\ o

< by

N
~
-
o, -
o
>
S
o

$B(®)

@ A 9 HEE A(-V2) ol
© B 9 &%= B2+ V5)o|th

© at 544 A B AT 544
o gt

® a, b AtolelE $43]

® a 9} b = 5ol

_?4

Lo

nlg

O
1o 1

® Q0
@ ©, e

@ 6,0
ONCHNC)

® 066



11, xof B o)AFA 22 4 ax+4 9§ A7 x+1 L W, ¢ 9] ZH2?



D 15+6V2
@ 15-63

A Ft= b 2 D 0, 20 - 3b 9] G327

@ 15-6v2 ® 15+6V3
® 15-5v3



13. t}e o]}Ale] 3t 0127} 9x -2 & ), o}

6x> —8x+m

D 2x-1 @ 2x+1

@ 3x+1 © 4x-1

@ 3x-1




Zol7h 1 91 Arztgolct)

7

B(b);'_3
@ a 2 b Aololl= {7t F4-5] Wk
@ a b Afolol Fejsr} 745 gt
® AY FHEE A(-1+ V2) o]t}
@ B 23+ B(-1- V5) oIt

® aotb o 379 sme V-V o)

-2

-1

1A@
0



15.

<1, /(x+1)2- /(x-1)2 & 35| 5pH?

O 2

@ -2



